Practice with Word Problems and Polynomials


1.
A triangle has three sides with the following lengths:  
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 units.  Write a simplified algebraic expression for the perimeter of the triangle.

2.
An octagon has sides that all have a length of y.  Write a simplified algebraic expression


for the perimeter of the octagon in terms of y.

3.
A square has an unknown length and width.  If its length is increased by 11 units to create


a new, larger rectangle, write a simplified algebraic expression for the area of the new


rectangle in terms of a if a represents the length of the original square.

4.
The width of a rectangle is unknown.  The length of the rectangle is two more units than


its width.  Write a simplified algebraic expression for the area of the rectangle in terms


of width (w).

5.
The formula for the area of a triangle is 
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.  If the base of a triangle


has a length of 8x units, and the height is 
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 units, write a simplified algebraic


expression for the area of the triangle in terms of x.

6.
A rectangle has a length of 5 units and a width of 3 units.  If its length and width are


increased by different unknown amounts (named x and y, respectively), then write


a simplified algebraic expression for the perimeter of the new rectangle formed in terms


of x and y.

7.
A square has a side length of k.  If the length of the square is increased by 6 units, and the

width of the square is increased by 4 units to create a new, larger rectangle, write a


simplified algebraic expression for the area of the new rectangle in terms of k.

8.
A triangle has three sides.  The first side has a length of x.  The second side has a length


that is 12 more units than the first side.  The third side has an identical length to the


first side.  Write a simplified algebraic expression in terms of x for the perimeter of the


triangle.

9.
The length of a rectangle is unknown, so it is denoted with the letter L.  If the width of


the rectangle is 10 fewer units than the length, write a simplified algebraic expression for


the perimeter of the rectangle in terms of L.

10.
A rectangle has a length of 7 units and an unknown width of w.  If the length is increased


by 2 units, and the width is increased by 2 units to create a larger rectangle, write a


simplified algebraic expression for the area of the new rectangle in terms of w.
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